Year 6
Maths Workshop

Thursday 10" November




Our Aims
* To outline the teaching methods, resources and (N 00\,
philosophies we use at Five Ways for mathematics.
* To give an overview of the Year 6 maths curriculum and
how that feeds into the SATS requirements.
. * To share ideas and resources to enable you to support .

your child for the year ahead.



Our Maths Philosophy
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 Power of the brain — revisit, revisit, revisit...
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. The yearly overview provides suggested timings for each
Yea rlg overview block of learning, which can be adapted to suit different

term dates or other requirements.

Week1 Week2  Week3

Algebra

Week 4

Position and
direction

Week5 Week 6

Week7  Week8

Place value | Addition, subtraction,
multiplication and division

Fractions,
decimals
and
percentages

Week 9

Fractions B

Areq,
perimeter
and
volume

Themed projects, consolidation and problem solving

Week 10 Week 11

Week 12

ts

ing uni

Convert

Statistics




My account Subscribe

White
Schools & teachers Parents & pupils About us Shop Q & ‘ ° &
Maths

Expert help at
your fingertips

We are a group of teachers and mathematicians,
dedicated to developing maths education for
everyone.

I'm a... v

Autumn Block 1 Autumn Block 2a Autumn Block 2b Autumn Block 3a Autumn Block 3b

Place value Four operations (a) Four operations (b) Fractions (a) Fractions (b)




Number Match up Game

Place Value knowledge:

What digit is in the ten thousands column?
What digit is in the ones column?

What digit is in the fens column?

What digit in in the hundred thousands column.

What would the number be rounded to the nearest:

107

1007
1007
100007
100 0007

Read the number out loud in words.

Find two cards to make this work:

T 7

Find 3 cards to make this work:

?o= 7 = 7

Order all the cards in descending order.

Order all the cards in ascending order.

What would the number be if | added 50007 etc

Ascending and Descending Order of coernath
L
Yoesr,,
™3 4 W

Ascending Order Descending Order

What would the number be if | subtracted 50007 etc

What would doublefhalve the number be?

What do | need to add to my number to total 1million?

Is the number divisible by 2,3,4,5,107 How do you know?




Five hundred and

twelve thousand,

four hundred and
ninety-seven

512, 497




Number of the Day Maths Fluency

Multiple of:
2x[] 3x[] ax[] 5x[] ex[] 7x[]
8x[] 9x[] 10x[] nx[] 12x[]

Round to:
the nearest 10:
the nearest 100:

LR )

Today's Number Is... 110 =

+100 =

+1000 =

the nearest 1000:

today’s number

Subtract 1784:

Add 6719: Nearest prime number:
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2019 national curriculum tests

Key stage 2

Mathematics

Paper1: arithrmetic







2016 national curriculum tests

Key stage 2

Mathematics

Paper 2: reasoning

First name

Middle name

A gtack of 20 identical boxes i 140.cm tal

140em

'

Sietan takes three banes off the top

LI

Last name

Date of birth Day ‘ ‘ Manth ‘

School name

DfE number

How tall is the stack now?
Show
your
- -]
e y——
) o s
16 17 18 19
prime numbers Bquare rambars
/ ~] mumbers |-
2 man

1 pencils cost £1.08

3 pencils and 1 rubber coat £1.09

‘What i the cont of 1 nebber?

Shiw

method

[ 1

e

ﬂ Each diagram below & divided into equal sections
‘Shacde three-quartors of each diagram.
/ / ]
Pl
v
2 mes




Award TWO marks for the correct answer Up to
of 25p 2m

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.

e 168 +2=84
109 - 84
OR

e 168 +6=28
3x28=84
109 - 84

Accept for TWO marks, an answer given
in the acceptable notation (see page 10
for guidance).

Answer need not be obtained for the
award of ONE mark.

Accept for ONE mark an answer of 0.25p
OR £25p OR £25 as evidence of an
appropriate method.

Award TWO marks for all four numbers Up to

placed correctly as shown: 2m
| prime numbers sguare numbers

aven
numbers

10

Award TWO marks for all three diagrams
completed to show three-quarters shaded,

e.g.

If the answer is incorrect, award ONE mark
for two diagrams correct.

Up to
2m indications of parts shaded.

Accept alternative unambiguous

If the answer is incorrect, award ONE mark
for three numbers placed correctly.

Accept alternative unambiguous
indications, e.g. lines drawn from the
numbers to the appropriate regions of the
diagram.

Do not accept numbers written in more
than one region, e.g.

| prime numbers ] Isquuanurrhets‘
nbers
17
19
OR
[ prime numbers | [square numbers |

even

numbers
17
19

13 | Award TWO marks for the correct answer
of 119

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.

e 140:20=7
3x7=21
140 - 21

OR

e 140:20=7
20-3=17
17x7

Up to

2m

Answer need not be obtained for the
award of ONE mark.




Why did the
obtuse angle jump
in the pool?

Because it was
over 90 degrees.




